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1 T SRR 1110 90 270 150 600

2 & mEA %M IEEZ 882 42 420 420

3 Fvb A2 NEEE 732 42 600 90

4 & mEA 17K HiLPA 672 90 270 270 42

5 HSJEA N 650 600 50

6 BERTC /R 600 600

7 F Y ATC PNGEA 552 42 150 90 270

8 HEKRTC EET:S 450 270 90 90

9 & LR A KL ERE 420 420

9 JEAHKE REPFFAS 420 420

9 JEKHKF BPIRT Gat 420 150 270

12 HETY 1= B 390 90 150 150

13 HLTC DA E— 354 42 270 42

14 HPETY K H Etf 290 90 200

15 Jo— BAR H 282 42 150 90

15 BEETC AN 282 150 42 90

17 FAR avh A ER 270 270

18 Ja— A — 234 42 42 150

19 FxLov K R 222 90 90 42

20 FxlL oY R P 216 42 90 42 42

20 HETS JENT {2l 216 42 42 90 42

22 HPETY HH EsL 204 42 90 42 30

23 JEAREERTC e 200 200

24 NTT R&D 1K 192 42 150

24 J=—JE K A TE 192 90 18 42 42

24 FTxLry A A 192 42 150

24 VSV X B2 192 42 150

28 Fx L ATC b 5 180 90 90

28 [EERUIEYN RfE 5Lk 180 90 90

28 & EmE A s 180 90 90

31 b A HH 174 42 90 42

32 & EmE A A Il ZErb 168 90 18 42 18

32 FROETC TR BT 168 18 150

34 FylLoY T fE—BR 150 150

34 JEARHKF )l HE 150 150

34 FAZ avh BAEREE 150 150

34 F ¥ ATC /M5 il — 150 150

38 HEARTC HAH 146 90 42 14

39 NTT R&D R #hik 140 140

39 HETY e By 140 140

41 T B= ik 132 42 90

41 HEARTC b ] =% — 132 42 90

43 NTT R&D A FISE 126 42 42 42

44 NTT R&D PR R 120 90 30

45 T BRIE A 114 42 42 30

46 HOETC MER 108 18 90

46 7L ANTC a B 108 18 90

48 HETY ENR30 104 90 14

48 TE8), TEfE EE HEA] 104 90 14

50 T JEE sE— 102 42 18 42

50 JER T e 5L 102 18 42 42

52 HETY 1B fEE 98 42 42 14

53 V=—JEK pNERE 92 50 42

54 Tvbh A~ ANENE 90 90

54 7L ZRNTC (LN ZnFg 90 90

54 JEAHKFE KB s 90 90

54 V=—JER I HEZ 90 90

58 ROHETC )l 84 42 42

58 V=—EK TR 84 42 42

58 FxLoY [ I el 84 42 42

61 TN A Bil 78 18 42 18

61 F ¥ ATC WA & 78 18 42 18

63 NTT R&D [ 74 18 42 14

64 Fvb A Ab B At 63 42 18 3

65 HETY FEpT fid 60 42 18

65 EH) EE £ R 60 42 18

65 TN NS 60 18 42

65 Fvb A FIT #ok 60 18 42

65 V=—JEK WE J =R 60 30 30

70 HETY T R 56 42 14

70 HETY KIRT T & 56 42 14

72 HETY W E fEE 50 50

72 V=—JER A K 50 50

72 EH) P T — 50 50

72 HEARTC J\HE EA 50 50

72 JZARHKFE HEH WU 50 50

77 HETY [REEEIN 44 30 14

78 N e & 42 42

78 HLTC &if (B 42 42

78 V=—JEK & OBk 42 42

78 tvbh, A~ AR —#fit 42 42

82 tvbh, A~ BT Z&5L4 40 40

82 7L ARTC A U 40 40
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82 Fvb A2 e PN 40 40
82 JEAHKE G 40 40
86 HETY F oK B 36 18 18
86 HETY & R 36 18 18
38 Fvb A2 T A 34 28 6
88 JER T A?k Y 34 28 6
90 El SEJER B e i 32 14 18
90 V—=—JEK %&EE Fuii 32 14 18
92 HETY ESl 30 30
92 JEARTHREAT I SR 30 30
92 HEATC T R 30 30
92 HETY A B4 30 30
92 J=—JZ K JF E & 30 30
92 V=—J]EK Py fidt 30 30
92 %o A ElAlE S 30 30
92 7Y AT ik 30 30
92 F ¥ ATC oL 30 30
92 HLTC RS RERR 30 30
92 FIEARTC KHE 30 30
103 25 —TC WE;% N 28 28
103 FAR avh el 32 28 14 14
103 7)Y AT i 28 14 14
103 FAAR avh ek = 28 14 14
103 HETY IR — I 28 14 14
103 JEAREERTC Pl T 28 28
109 FHROETC TR —Z 23 10 3 10
110 HOHTC EE R 21 18 3
110 DENSY] SR [ 21 18 3
110 FROETC i EE 21 3 6 6 6
113 FHOHETC FER 19 10 6 3
114 HLTC PN )| 18 18
114 Tvbh A~ & SEA 18 18
114 FylL oy I 18 18
114 HIEARTC L] B3R 18 18
114 7’&)~ BiH S 18 18
119 V=—JE K B B 16 6 10
119 HOHETC o E 16 3 10 3
119 E8) EfE e 16 10 6
119 2vbh A W H 75 £ 16 6 10
123 FxLoy TR 15 6 6 3
124 D PETY T R 14 14
124 VESEVS EUAMEIY 14 14
124 HETS 1 FAHE 14 14
124 2vb AV [ B 14 14
124 V=—JZK B VEA 14 14
124 7L AZRTC e e K HEN 14 14
124 Fx— B — 14 14
124 2vb A FE(R Ak 14 14
124 %, fEfE AR WG 14 14
124 JEAKHKF ANEERES A 14 14
124 HPETY FH ] 14 14
124 TEH) (EfE il F&F 14 14
124 TES), TEfE bAs ELA 14 14
124 BOHETC £4 % 14 14
138 F ¥ ATC AET S 13 10 3
139 AH—TC pNGOR] 12 6 6
139 HOHTC epk —3% 12 6 6
139 J=—JEK /INEE IERER 12 6 6
142 HPETY A % 10 10
142 EH) EE A Pith 10 10
142 NTT R&D i e 10 10
142 UEY {BK £ 10 10
142 TE8), TEfE CATER 10 10
142 EH) EE £t m B 10 10
142 TE8), fEfE e 10 10
149 Fvb A BATEB e 5L 9 6 3
149 HOHTC Lo dERh 9 6 3
149 FTC JEK B ST 9 3 6
149 Lvbh A~ HH B 9 3 6
149 tvbh A~ [if] FHF1 52 9 3 6
154 HLTC Fr el 6 6
154 Fvb A JITE 75— 6 6
154 H NAJEAR [y 15 6 6
154 F ¥ ATC A4 6 6
154 FylL oy e EEEk 6 6
154 EH) EE S HER 6 6
154 TE8), fEfE 9 | orih 6 6
154 HFOHETC Tk & 6 3 3
154 HLTC A A 6 3 3
154 FxL oY N 6 3 3
154 HETY /N B 6 3 3
54 |[FxLoo 1] PEe— 6 3 3
154 F ¥ ATC gk 1= 6 6
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154 UEY S 6 6

154 |FxLoo Pl 6 3 3

154 V=—JEK A B2 6 3 3

154 2vh, AV el A — 6 3 3

154 |[{E8). (B 5T 753 6 6

172 NTT R&D Hsin—Pin Lo 3 3

172 FAR avh ] 38 3 3

172 HETY fea i Bk 3 3

172 V=—JEK HH R 3 3

172 FylL oy B 5 3 3

172 Lvbh, A~ SFH 455 3 3

172 Tyh AV AN 3 3

172 FxlL oY lif] j=5 R 3 3

172 TE8), (4 EIEEEYNA 3 3

172 _|T.0.P B HE 3 3

172 TE8), (4 P N 3 3

172 F=l— WEER A 3 3

172 TE8), fEfE KE Ftt 3 3

172 HPETY A EFR 3 3

172 BHOETC R B— 3 3

172 T, e WK B2 3 3

172 NTT R&D T 3 3

172 U~\EY Vi 3 3

172 FxlL oY G 3 3 3

172 FylL Y A I 3 3

172 FylL oY AR Sl 3 3

172 B JEAR FEH HRR 3 3

172 FxlL oY A FA 3 3

172 2% —TC s B 3 3

172 JEAHKE B FEE 3 3

172 FylL Y Ak H— 3 3

172 8, fEE B fE 3 3

172 8, 6 P& ik 3 3

172 TEB) (EfE N 3 3

172 8, 6 AR 82 3 3

172 £, fEfE R 3 3

172 8, 6 WA 5 3 3

172 EB) EfE B Fnf 3 3




